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Problem 2 - Frequency Response, Magnitude [5 Points]
a) [2.5pts] Vc(jm) is resonant at 10krad/s with 100 500pH

ch(jmo)‘ = 0.5V determine the numerical value
Mas Powt/ %c«ugqfa/ RN w J of C in Farads. v v
( / N // o) =1 ()2, - - #C(%)g L T:;_JC)—
(Y = [Fleos(vt) A ko
/ 7 7/{\/»

\Vc(j“’)\ o
[T

T |- g =05 = s
N Z\“’&// G,

1 i
© = e

z
p"é - Z /1}2 = iﬁi&@ ({,J) b) [2.5pts] By hand, sketchlvc(jm)\v s
‘Vc(%)l = Jﬂ(zlouulf) i g
( o<, 10 =
i
7 c* ToC v (i) = soreomm vl e o T
0 Tog(]
0 om0 00 3
w>>0,
2 [ [, v 3

J
2o-

Linenh Rante o OpeseTl e OFAnP
LYo € o
_ive slats L oHsY
it sl Bl
—pe Vg W



BRI S h e <%
Mesh uith dependent source | NOTE
PR . R Jar af fovmt

1‘1_[-—6‘] 1T 5‘*1;%&6 +wg=0
3 107) g2 Wo 'WLC -2

s
R\ o REEEEER b s ! e TR e 5 3 ity

5 % Vottage leads — inductor

corrent \eads - capocitor:

KLt

T rmix\'—iﬁwieu.-xgso

T ()OO R S i

3\& :'S;) 3,=To Resonance, Wo
A

b \u\g-\hezeq,n'. XL = Xc

dwol = )

Ya
X T0aC
2% ('\ﬁij) e _3_“ :‘Du -2
c T

dBy = 20 Loam(l nGEwl)

o el chCD'hav
1 e 52
> w > 00
Ze—rO
iz & 2= qw0L
s w—reo
Z > @
open

ast order

For_capadior™ v ‘

“C@FE‘:(O")'Vc@"'”ﬂe e
V@ @)Y ~=fmC

For inductor* L
:‘-m'{‘\.@')"\.(*‘"ﬂe x
TL&—>9)
caz
5 R
e ——s—S
Vo Wexe_ Devid—
2‘ J
—— o] Vo dmp acomss 2,
+
= 0y ‘;E‘Q \JP_ L oul e ﬁ_
Y
dep 2\1-&&

Corent  Deddas




